Moving Companies		Note 1		Note 2		Note 3		Note 4		Note 5					
West Slope:	Points	Modular Furniture		Moving Services		Packing Material		Equipment Rental Daily		Equipment Rental Monthly		Off-Site Temp Storage Wkly	Off-Site Temp Storage Monthly	Off-Site Temp Storage (Controlled) Wkly	Off-Site Temp Storage (Controlled) Monthly
Mother Lode Van & Storage	18	\$688.00	5	\$2,344.00	5	\$718.50	2	\$201.75	3	\$2,725.00	3	\$975.00	\$3,000.00	N/A	N/A
Metropolitan Van & Storage	18	\$1,072.00	1	\$2,774.00	3	\$127.00	5	\$49.00	4	\$1,645.00	5	\$503.50	\$503.50	\$265.00	\$1,060.00
Crown Worldwide Moving & Storage	19	\$908.76	2	\$2,416.00	4	\$305.35	4	\$0.00	5	\$2,311.25	4	\$0.00	\$530.00	\$0.00	\$1,590.00
Service West	12	\$728.00	3	\$3,748.00	2	\$494.50	3	\$302.50	2	\$4,390.00	2	\$300.00	\$1,200.00	\$375.00	\$1,500.00
GDS Moving & Installation	12	\$700.00	4	\$2,344.00	5	\$1,087.00	1	\$1,097.50	1	\$7,485.00	1	\$150.00	\$450.00	\$225.00	\$675.00
East Slope:		Modular Furniture		Moving Services		Packing Material		Equipment Rental Daily		Equipment Rental Monthly		Off-Site Temp Storage Wkly	Off-Site Temp Storage Monthly	Off-Site Temp Storage (Controlled) Wkly	Off-Site Temp Storage (Controlled) Monthly
Mother Lode Van & Storage	17	\$718.00	5	\$2,464.00	4	\$717.00	2	\$211.75	3	\$2,720.00	3	\$975.00	\$3,000.00	N/A	N/A
Metropolitan Van & Storage	17	\$1,072.00	1	\$2,774.00	2	\$127.00	5	\$49.00	4	\$1,645.00	5	\$503.50	\$503.50	\$265.00	\$1,060.00
Crown Worldwide Moving & Storage	20	\$908.76	2	\$2,416.00	5	\$305.35	4	\$0.00	5	\$2,311.25	4	\$0.00	\$530.00	\$0.00	\$1,590.00
Service West	12	\$728.00	4	\$3,748.00	1	\$494.50	3	\$302.50	2	\$4,390.00	2	\$300.00	\$1,200.00	\$375.00	\$1,500.00
GDS Moving & Installation	9	\$820.00	3	\$2,704.00	3	\$1,087.00	1	\$1,177.50	1	\$7,565.00	1	\$150.00	\$450.00	\$225.00	\$675.00

Notes:

- 1) Prevail Wage only Based on 8 hr straight time and 4 Hours over time
- 2) Based on 8 hrs straight time and 4 hr over time
- 3) See work sheet for quantities use for comparisons
- 4) See work sheet for quantities use for comparisons -Daily rate
- 5) See work sheet for quantities use for comparisons -Monthly rate

Bid #16-961-032 Moving services and Modular Furniture Disassembly, Inventory, Removal and Reinstallation West Slope

_	(A) Mother Lode Van & Storage, Inc.	8 hrs-ST, 4 hrs-OT	(B) Metropolitan Van & Storage	8 hrs-ST, 4 hrs-OT	(C) Crown Worldwide Moving & Storage	8 hrs-ST, 4 hrs-OT	(D) Service West	8 hrs-ST, 4 hrs-OT	(E) GDS Moving & Installation	8 hrs-ST, 4 hrs-OT
	Hourly Rate		Hourly Rate		Hourly Rate		Hourly Rate		Hourly Rate	
**										
with a cost of less than \$1,000.00):										
Installer – Straight Time	\$38.00		\$55.00		\$40.00		\$50.00		\$37.00	
Installer – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays										
	\$48.00		\$69.00		\$60.00		\$75.00		\$48.00	
Disassembly, Inventory, Removal, and Reinstallation Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00):										
Installer – Straight Time	\$52.00	\$416.00	\$79.00	\$632.00	\$71.10	\$568.80	\$52.00	\$416.00	\$52.00	\$416.00
Installer – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays	\$68.00	\$272.00	\$110.00	\$440.00	\$84.99	\$339.96	\$78.00	\$312.00	\$71.00	\$284.00
•	,	\$688.00		\$1,072.00		\$908.76		\$728.00	•	\$700.00
Vehicle and Driver/Mover – Straight Time	\$58.00	\$464.00	\$55.00	\$440.00	\$59.00	\$472.00	\$82.00	\$656.00	\$58.00	\$464.00
Vehicle and Driver/Mover – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays	\$68.00	\$272.00	\$65.00	\$260.00	\$79.00	\$316.00	\$123.00	\$492.00	\$68.00	\$272.00
Vehicle and Driver/Mover plus Additional Mover – Straight Time			·							\$728.00
Vehicle and Driver/Mover plus Additional Mover – Overtime after 8 hours, Saturday, Sunday, and					,					
, , ,									•	\$444.00 \$264.00
Each Additional Mover – Straight Time Each Additional Mover – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays	\$43.00	\$172.00	\$67.50	\$270.00	\$45.00	\$180.00	\$78.00	\$312.00	\$33.00	\$264.00
	with a cost of less than \$1,000.00): Installer – Straight Time Installer – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays Disassembly, Inventory, Removal, and Reinstallation Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Installer – Straight Time Installer – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays Vehicle and Driver/Mover – Straight Time Vehicle and Driver/Mover plus Additional Mover – Straight Time Vehicle and Driver/Mover plus Additional Mover – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays Vehicle and Driver/Mover plus Additional Mover – Straight Time Vehicle and Driver/Mover plus Additional Mover – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays Each Additional Mover – Straight Time Each Additional Mover – Overtime after 8 hours,	Description Hourly Rate Disassembly, Inventory, Removal, and Reinstallation Services for Non-Prevailing Wage Rate Projects (projects with a cost of less than \$1,000.00): Installer – Straight Time \$38.00 Installer – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays \$48.00 Disassembly, Inventory, Removal, and Reinstallation Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Installer – Straight Time \$52.00 Installer – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays \$68.00 Vehicle and Driver/Mover – Straight Time \$58.00 Vehicle and Driver/Mover – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays \$68.00 Vehicle and Driver/Mover plus Additional Mover – Straight Time \$91.00 Vehicle and Driver/Mover plus Additional Mover – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays \$111.00 Each Additional Mover – Straight Time \$33.00 Each Additional Mover – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays	Description Hourly Rate	Mother Lode Van & Storage, Inc. Pris-OT Storage Norther Lode Van & Storage	Mother Lode Van & Storage, Inc. Description Description Disassembly, Inventory, Removal, and Reinstallation Services for Non-Prevailing Wage Rate Projects (projects with a cost of less than \$1,000.00): Installer – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Installer – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Installer – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Installer – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Installer – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Installer – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Installer – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Services for Prevailing Wage R	Mother Lode Van & Storage, Inc. Description Hourly Rate Hourly Rate Disassembly, Inventory, Removal, and Reinstallation Services for Non-Prevailing Wage Rate Projects (projects with a cost of less than \$1,000.00): Installer – Straight Time S38.00 S69.00 S69.00 S60.00 Disassembly, Inventory, Removal, and Reinstallation Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Installer – Straight Time S38.00 S69.00 S69.00 S60.00 Disassembly, Inventory, Removal, and Reinstallation Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00): Installer – Straight Time S52.00 S68.00 S79.00 S632.00 S71.10 Installer – Straight Time S58.00 S688.00 S272.00 S110.00 S440.00 S84.99 Vehicle and Driver/Mover – Straight Time S58.00 S688.00 S272.00 S65.00 S65.00 S79.00 S69.00 S99.00 S69.00 S99.00 S69.00 S99.00 S84.99 Vehicle and Driver/Mover – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays S688.00 S772.00 S68.00 S772.00 S69.00 S69.00 S69.00 S79.00 S78.00 S79.00 S78.00 S78.00 S78.00 S78.00 S78.00 S78.00 S78.00 S78.00 S79.00 S7	Mother Lode Van & Storage, Inc. Storage Inc. Storage Ins. Crown Worldwide Miss-OT Storage Ins. Crown Worldwide Miss-OT Moving & Storage Ins. Crown Worldwide Moving & Storage Ins. Crown Worldwide Moving & Storage Ins. Crown Worldwide Miss-OT Moving & Storage Ins. Crown Worldwide Ins.	Mother Lodde Van & Storage, Inc. Shrs-\$T, 4 hrs-OT Storage Storage Nar-OT Sto	Mother Lode Van & Storage, Inc. Motropolitan Van & Storage Inc. Moving R Storage Inc. Moving Rate Moving R Storage Inc. Moving Rate Moving	Mother Lode Van & Storage Storag

Total \$2,344.00 \$2,774.00 \$2,416.00 \$3,748.00 \$2,344.00

Bid #16-961-032 Moving services and Modular Furniture Disassembly, Inventory, Removal and Reinstallation West Slope

		Qtys for Bid		4	A)		Mother			в)		Metropolit		(0	c)					D)		Service		(1	9		ı
		comparison	Mo	ther Lode Va	n & Storage,	Inc.	Lode		Metropolitan	Van & Storag	ge	an	Crow	n Worldwide	Moving & S	torage	Crown		Servic	e West		West		GDS Moving	& Installation		GDS
Bid Item#	Description		Each	Quote	Roll	Pound	Quote	Each	Quote	Roll	Pound	Quote	Each	Quote	Roll	Pound	Quote	Each	Quote	Roll	Pound	Quote	Each	Quote	Roll	Pound	Quote
Packing Mater	ials:			Each			Month		Each			Month		Each			Month		Each			Month		Each			Month
11	2" Plastic Tape	1	\$1.50				\$1.50			\$1.75		\$0.00	\$1.85				\$1.85	\$4.50				\$4.50			\$1.75		\$0.00
12	1.5 Cubic Foot Auto Fold Carton	10	\$1.40				\$14.00	\$2.00				\$20.00	\$1.45				\$14.50	\$2.00				\$20.00	\$3.00				\$30.00
13	3.0 Cubic Foot Carton	10	\$1.70				\$17.00	\$1.50				\$15.00	\$2.60				\$26.00	\$4.00				\$40.00	\$1.85				\$18.50
14	4.5 Cubic Foot Carton	10	\$1.85				\$18.50	\$2.00				\$20.00	\$2.80				\$28.00	\$6.00				\$60.00	\$2.30				\$23.00
15	Anti-Static Bubble Wrap	1			\$385.00		\$385.00			N/C		\$0.00	.34/foot				\$85.00	\$150.00				\$150.00			\$2.35/ft		\$587.50
16	Bubble Wrap (250 ft roll)	1			\$192.00		\$192.00			N/C		\$0.00	.30/foot				\$75.00	\$120.00				\$120.00			\$1.35/ft		\$337.50
17	Computer Keyboard Ziploc Bags (250 ft roll)	20	\$1.05				\$21.00	\$1.60				\$32.00	\$1.25				\$25.00	\$2.00				\$40.00	\$1.05				\$21.00
18	Dish Pack Carton		\$3.95				\$0.00	\$3.00				\$0.00	\$5.60				\$0.00	\$5.00				\$0.00	\$4.55				\$0.00
19	EZ Anchor/Wall Molly		\$1.50				\$0.00	\$0.50				\$0.00	\$1.00				\$0.00	\$2.00				\$0.00	\$1.25				\$0.00
20	Flat Screen Computer Monitor Covers	20	\$2.10				\$42.00	\$2.00				\$40.00	\$1.25				\$25.00	\$2.00				\$40.00	\$2.10				\$42.00
21	Flat Screen TV Carton		\$60.00				\$0.00	\$10.00				\$0.00	\$60.00				\$0.00	\$4.00				\$0.00	\$125.00				\$0.00
22	Lamp Carton		\$2.95				\$0.00	\$2.00				\$0.00	\$4.50				\$0.00	\$10.00				\$0.00	\$2.95				\$0.00
23	Paper Pad		\$1.95				\$0.00	\$2.50				\$0.00	\$2.50				\$0.00	\$2.00				\$0.00	\$1.95				\$0.00
24	Mirror/Picture Carton		\$8.45				\$0.00	\$4.00				\$0.00	\$8.00				\$0.00	\$4.50				\$0.00	\$8.45				\$0.00
25	Shrink Wrap	1			\$27.50		\$27.50			N/C		\$0.00			\$25.00		\$25.00			\$20.00		\$20.00			\$27.50		\$27.50
26	Unprinted Newspaper					\$0.95		\$22.00			35 lbs	\$0.00			\$30.00					\$21.00						\$0.95	1
27	Wardrobe Carton		\$8.95					\$5.00					\$12.50					\$15.00					\$8.25				1
	Sub total						\$718.50					\$127.00					\$305.35					\$494.50					\$1,087.00
Moving Equips	ment Rental Rate:		Day		Week	Month	Month	Day		Week	Month	Month	Day		Week	Month	Month	Day		Week	Month	Month	Day		Week	Month	Month
28	4 Wheel Dolly	5	\$0.75	\$3.75	\$3.00	\$12.00	\$60.00	N/C	\$0.00	N/C	\$10.00	\$50.00		\$0.00	\$2.50		\$53.75	\$4.50	\$22.50	\$20.00	\$50.00	\$250.00	\$0.75	\$3.75	\$3.75	\$15.00	\$75.00
29	Blankets	20	\$0.40	\$8.00	\$2.00	\$7.50	\$150.00	N/C	\$0.00	N/C	\$1.00	\$20.00	N/C	\$0.00			\$0.00	\$2.00	\$40.00	\$10.00	\$20.00	\$400.00	\$1.00	\$20.00	\$5.00	\$20.00	\$400.00
30	Book/File Cart	5	\$2.50	\$12.50	\$13.50	\$45.00	\$225.00	N/C	\$0.00	N/C	\$10.00	\$50.00		\$0.00	\$10.00		\$215.00	\$4.50	\$22.50	\$20.00	\$40.00	\$200.00	\$2.50	\$12.50	\$12.50	\$50.00	\$250.00
31	Flat Screen TV Carton		\$1.00	\$0.00	\$6.25	\$25.00	\$0.00	N/C	\$0.00	N/C	\$10.00	\$0.00	N/C	\$0.00			\$0.00	\$4.00	\$0.00	\$20.00	\$40.00	\$0.00	\$35.00	\$0.00	\$35.00	\$35.00	\$0.00
32	Machine Cart	5	\$2.50	\$12.50	\$13.50	\$45.00	\$225.00	N/C	\$0.00	N/C	\$10.00	\$50.00		\$0.00	\$10.00		\$215.00	\$4.50	\$22.50	\$20.00	\$40.00	\$200.00	\$2.50	\$12.50	\$12.50	\$50.00	\$250.00
33	Panel Cart	5	\$3.50	\$17.50	\$18.00	\$50.00	\$250.00	N/C	\$0.00	N/C	\$10.00	\$50.00		\$0.00	\$10.00		\$215.00	\$4.50	\$22.50	\$20.00	\$40.00	\$200.00	\$3.25	\$16.25	\$16.25	\$65.00	\$325.00
34	Plastic Move Tote		\$0.22	\$0.00	\$1.60	\$6.40	\$0.00	N/C	\$0.00	\$1.80	\$7.20	\$0.00		\$0.00	\$1.25		\$0.00	\$4.50	\$0.00	\$20.00	\$40.00	\$0.00	\$0.39	\$0.00	\$1.95	\$7.80	\$0.00
35	Speed Pack	5	\$1.00	\$5.00	\$6.00	\$15.00	\$75.00	N/C	\$0.00	N/C	\$5.00	\$25.00	N/C	\$0.00			\$0.00	\$4.50	\$22.50	\$20.00	\$40.00	\$200.00	\$1.00	\$5.00	\$5.00	\$20.00	\$100.00
36	Storage Trailer (48' to 53')	1	\$50.00	\$50.00	\$175.00	\$495.00	\$495.00	\$15.00	\$15.00	\$100.00	\$350.00	\$350.00		\$0.00	\$125.00		\$537.50	\$60.00	\$60.00	\$300.00	\$1,200.00	\$1,200.00	\$435.00	\$435.00	\$550.00	\$1,000.00	\$1,000.00
	Temperature Controlled Storage Trailer (48' to 53')	1		1																							
37	. ,		\$75.00	\$75.00	\$375.00	\$995.00	\$995.00	\$34.00	\$34.00	\$250.00	\$1,000.00	\$1,000.00		\$0.00	\$250.00		\$1.075.00	\$75.00	\$75.00	\$375.00	\$1,500.00	\$1,500.00	\$577.50	\$577.50	\$1,462,50	\$4,785.00	\$4,785,00
39	Wood Tub	5	\$3.50	\$17.50	\$18.00	\$50.00	\$250.00	N/C	\$0.00	N/C	\$10.00	\$50.00	N/C	\$0.00			\$0.00	\$3.00	\$15.00	\$12.00	\$48.00	\$240.00	\$3.00	\$15.00	\$15.00	\$60.00	\$300.00
	Sub total	•		\$201.75			\$2,725.00		\$49.00			\$1,645.00		\$0.00			\$2,311.25		\$302.50			\$4,390.00		\$1,097.50			\$7,485.00

Note 1)*48" x 250' Roll E) Based on 250 ft roll

Bid #16-961-032 Moving services and Modular Furniture Disassembly, Inventory, Removal and Reinstallation West Slope

		Mother L	(A) ode Van & St	torage, Inc.		Metrop	(B) politan Van &	Storage		Crown Wor	(C) Idwide Movii	ng & Storage			(D) Service West	ı		GDS N			
Bid Item #	Description	Week	Quote	Month	Quote	Week	Quote	Month	Quote	Week	Quote	Month	Quote	Week	Quote	Month	Quote	Week	Quote	Month	Quote
Optional Rent	tal Rate:																				
39	Off-Site Temporary Storage	\$975.00	\$975.00	\$3,000.00	\$3,000.00	\$0.95/sq ft	503.5	\$0.95/sq ft	\$503.50		\$0.00	\$1.00/sq ft	\$530.00	\$300.00	\$300.00	\$1,200.00	\$1,200.00	\$10.00	\$150.00	\$30.00	\$450.00
40	Off-Site Temporary Controlled Storage	N/A	\$0.00	N/A	\$0.00	\$0.50/sq ft	\$265.00	\$2.00/sq ft	\$1,060.00		\$0.00	\$3.00/sq ft	\$1,590.00	\$375.00	\$375.00	\$1,500.00	\$1,500.00	\$15.00	\$225.00	\$45.00	\$675.00
			\$975.00		\$3,000.00		\$768.50		\$1,563,50		\$0.00		\$2,120,00		\$675.00		\$2,700,00		\$375.00		\$1.125.00

(A) 5000' Warehouse Floor Space in Rancho Cordova (B) Vault or Loose Load per sq. ft. (vault 511.25/wk or \$45/mo) (C) per square feet (D) 53' (E) 5 x 7 x 7

B, C) Asume 530 sq feet E) 35 sq ft x 15 qty = 525 sq ft

Bid #16-961-032 Moving services and Modular Furniture Disassembly, Inventory, Removal and Reinstallation East Slope

		(A) Mother Lode Van & Storage, Inc.	8 hrs-ST, 4 hrs-OT	(B) Metropolitan Van & Storage	8 hrs-ST, 4 hrs-OT	(C) Crown Worldwide Moving & Storage	8 hrs-ST, 4 hrs-OT	(D) Service West	8 hrs-ST, 4 hrs-OT	(E) GDS Moving & Installation	8 hrs-ST, 4 hrs-OT
Bid Item #	Description	Hourly Rate		Hourly Rate		Hourly Rate		Hourly Rate		Hourly Rate	
Modular Furniture:	Disassembly, Inventory, Removal, and Reinstallation Services for Non-Prevailing Wage Rate Projects (projects with a cost of less than \$1,000.00):										
01	Installer – Straight Time	\$40.00		\$55.00		\$40.00		\$50.00		\$47.00	
02	Installer – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays	\$50.00		\$69.00		\$60.00		\$75.00		\$58.00	
Modular Furniture:	Disassembly, Inventory, Removal, and Reinstallation Services for Prevailing Wage Rate Projects (projects with a cost of greater than \$1,000.00):										
03	Installer – Straight Time	\$55.00	\$440.00	\$79.00	\$632.00	\$71.10	\$568.80	\$52.00	\$416.00	\$62.00	\$496.00
04	Installer – Overtime after 8 hours, Saturday, Sunday,										
	and County Recognized Holidays	\$69.50	\$278.00	\$110.00	\$440.00	\$84.99	\$339.96	\$78.00	\$312.00	\$81.00	\$324.00
Sub Total:			\$718.00		\$1,072.00		\$908.76		\$728.00		\$820.00
Moving Services:											<u> </u>
05	Vehicle and Driver/Mover – Straight Time	\$60.00	\$480.00	\$55.00	\$440.00	\$59.00	\$472.00	\$82.00	\$656.00	\$68.00	\$544.00
06	Vehicle and Driver/Mover – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays	\$70.00	\$280.00	\$65.00	\$260.00	\$79.00	\$316.00	\$123.00	\$492.00	\$78.00	\$312.00
07	Vehicle and Driver/Mover plus Additional Mover – Straight Time	\$96.00	\$768.00	\$110.00	\$880.00	\$89.00	\$712.00	\$134.00	\$1,072.00	\$101.00	\$808.00
08	Vehicle and Driver/Mover plus Additional Mover – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays	\$116.00	\$464.00	\$135.00	\$540.00	\$124.00	\$496.00	\$200.00	\$800.00	\$121.00	\$484.00
09	Each Additional Mover – Straight Time	\$36.00	\$288.00	\$48.00	\$384.00	\$30.00	\$240.00	\$52.00	\$416.00	\$43.00	\$344.00
10	Each Additional Mover – Overtime after 8 hours, Saturday, Sunday, and County Recognized Holidays	\$46.00	\$184.00	\$67.50	\$270.00	\$45.00	\$180.00	\$78.00	\$312.00	\$53.00	\$212.00
			\$2,464.00		\$2,774.00		\$2,416.00		\$3,748.00		\$2,704.00

Bid #16-961-032 Moving services and Modular Furniture Disassembly, Inventory, Removal and Reinstallation East Slope

		Qtys for Bid		4	A)		Mother		(в)		Metropolit		(6	c)					D)		Service		(8	E)		1 /
		comparison	Mo	ther Lode Va	n & Storage,	Inc.	Lode		Metropolitan	Van & Stora	ge	an	Crow	n Worldwide	Moving & S	torage	Crown		Servic	e West		West		GDS Moving	& Installation		GDS
Bid Item #	Description		Each	Quote	Roll	Pound	Quote	Each	Quote	Roll	Pound	Quote	Each	Quote	Roll	Pound	Quote	Each	Quote	Roll	Pound	Quote	Each	Quote	Roll	Pound	Quote
Packing Mater	ials:			Each			Month		Each			Month		Each			Month		Each			Month		Each			Month
11	2" Plastic Tape	1			\$1.50		\$0.00			\$1.75		\$0.00	\$1.85				\$1.85	\$4.50				\$4.50			\$1.75		\$0.00
12	1.5 Cubic Foot Auto Fold Carton	10	\$1.40				\$14.00	\$2.00				\$20.00	\$1.45				\$14.50	\$2.00				\$20.00	\$3.00				\$30.00
13	3.0 Cubic Foot Carton	10	\$1.70				\$17.00	\$1.50				\$15.00	\$2.60				\$26.00	\$4.00				\$40.00	\$1.85				\$18.50
14	4.5 Cubic Foot Carton	10	\$1.85				\$18.50	\$2.00				\$20.00	\$2.80				\$28.00	\$6.00				\$60.00	\$2.30				\$23.00
15	Anti-Static Bubble Wrap	1			\$385.00*		\$385.00			N/C		\$0.00	.34/foot				\$85.00	\$150.00				\$150.00			\$2.35/ft		\$587.50
16	Bubble Wrap	1			\$192.00*		\$192.00			N/C		\$0.00	.30/foot				\$75.00	\$120.00				\$120.00			\$1.35/ft		\$337.50
17	Computer Keyboard Ziploc Bags	20	\$1.05				\$21.00	\$1.60				\$32.00	\$1.25				\$25.00	\$2.00				\$40.00	\$1.05				\$21.00
18	Dish Pack Carton		\$3.95				\$0.00	\$3.00				\$0.00	\$5.60				\$0.00	\$5.00				\$0.00	\$4.55				\$0.00
19	EZ Anchor/Wall Molly		\$1.75				\$0.00	\$0.50				\$0.00	\$1.00				\$0.00	\$2.00				\$0.00	\$1.25				\$0.00
20	Flat Screen Computer Monitor Covers	20	\$2.10				\$42.00	\$2.00				\$40.00	\$1.25				\$25.00	\$2.00				\$40.00	\$2.10				\$42.00
21	Flat Screen TV Carton		\$60.00				\$0.00	\$10.00				\$0.00	\$60.00				\$0.00	\$4.00				\$0.00	\$125.00				\$0.00
22	Lamp Carton		\$2.95				\$0.00	\$2.00				\$0.00	\$4.50				\$0.00	\$10.00				\$0.00	\$2.95				\$0.00
23	Paper Pad		\$1.95				\$0.00	\$2.50				\$0.00	\$2.50				\$0.00	\$2.00				\$0.00	\$1.95				\$0.00
24	Mirror/Picture Carton		\$8.45				\$0.00	\$4.00				\$0.00	\$8.00				\$0.00	\$4.50				\$0.00	\$8.45				\$0.00
25	Shrink Wrap	1			\$27.50		\$27.50			N/C		\$0.00			\$25.00		\$25.00			\$20.00		\$20.00			\$27.50		\$27.50
26	Unprinted Newspaper					\$0.95		\$22.00			35 lbs				\$30.00					\$21.00						\$0.95	
27	Wardrobe Carton		8.95					\$5.00					\$12.50					\$15.00					\$8.25				
	Sub Total						\$717.00					\$127.00			•		\$305.35					\$494.50					\$1,087.00
Moving Equipr	nent Rental Rate:	Sub total	Day		Week	Month	Month	Day		Week	Month	Month	Day		Week	Month	Month	Day		Week	Month	Month	Day		Week	Month	Month
28	4 Wheel Dolly	5	\$0.75	\$3.75	\$3.00	\$12.00	\$60.00	N/C	\$0.00	N/C	\$10.00	\$50.00		\$0.00	\$2.50		\$53.75	\$4.50	\$22.50	\$20.00	\$50.00	\$250.00	\$0.75	\$3.75	\$3.75	\$15.00	\$75.00
29	Blankets	20	\$0.40	\$8.00	\$2.00	\$7.50	\$150.00	N/C	\$0.00	N/C	\$1.00	\$20.00	N/C	\$0.00			\$0.00	\$2.00	\$40.00	\$10.00	\$20.00	\$400.00	\$1.00	\$20.00	\$5.00	\$20.00	\$400.00
30	Book/File Cart	5	\$2.50	\$12.50	\$13.50	\$45.00	\$225.00	N/C	\$0.00	N/C	\$10.00	\$50.00		\$0.00	\$10.00		\$215.00	\$4.50	\$22.50	\$20.00	\$40.00	\$200.00	\$2.50	\$12.50	\$12.50	\$50.00	\$250.00
31	Flat Screen TV Carton		\$1.00	\$0.00	\$6.25	\$25.00	\$0.00	N/C	\$0.00	N/C	\$10.00	\$0.00	N/C	\$0.00			\$0.00	\$4.00	\$0.00	\$20.00	\$40.00	\$0.00	\$35.00	\$0.00	\$35.00	\$35.00	\$0.00
32	Machine Cart	5	\$2.50	\$12.50	\$13.50	\$45.00	\$225.00	N/C	\$0.00	N/C	\$10.00	\$50.00		\$0.00	\$10.00		\$215.00	\$4.50	\$22.50	\$20.00	\$40.00	\$200.00	\$2.50	\$12.50	\$12.50	\$50.00	\$250.00
33	Panel Cart	5	\$3.50	\$17.50	\$18.00	\$50.00	\$250.00	N/C	\$0.00	N/C	\$10.00	\$50.00		\$0.00	\$10.00		\$215.00	\$4.50	\$22.50	\$20.00	\$40.00	\$200.00	\$3.25	\$16.25	\$16.25	\$65.00	\$325.00
34	Plastic Move Tote		\$0.22	\$0.00	\$1.60	\$6,40	\$0.00	N/C	\$0.00	\$1.80	\$7.20	\$0.00		\$0.00	\$1.25		\$0.00	\$4.50	\$0.00	\$20.00	\$40.00	\$0.00	\$0.39	\$0.00	\$1.95	\$7.80	\$0.00
35	Speed Pack	5	\$1.00	\$5.00	\$6.00	\$15.00	\$75.00	N/C	\$0.00	N/C	\$5.00	\$25.00	N/C	\$0.00			\$0.00	\$4.50	\$22.50	\$20.00	\$40.00	\$200.00	\$1.00	\$5.00	\$5.00	\$20.00	\$100.00
36	Storage Trailer (48' to 53')	1	\$50.00	\$50.00	\$175.00	\$495.00	\$495.00	\$15.00	\$15.00	\$100.00	\$350.00	\$350.00		\$0.00	\$125.00		\$537.50	\$60.00	\$60.00	\$300.00	\$1,200.00	\$1,200.00	\$475.00	\$475.00	\$590.00	\$1.040.00	\$1,040,00
	Temperature Controlled Storage Trailer (48' to 53')	1		1																							
37	. ,		\$85.00	\$85.00	\$350.00	\$990.00	\$990.00	\$34.00	\$34.00	\$250.00	\$1,000.00	\$1,000.00		\$0.00	\$250.00		\$1,075,00	\$75.00	\$75.00	\$375.00	\$1,500.00	\$1,500.00	\$617.50	\$617.50	\$1.502.00	\$4.825.00	\$4.825.00
39	Wood Tub	5	\$3.50	\$17.50	\$18.00	\$50.00	\$250.00	N/C	\$0.00	N/C	\$10.00	\$50.00	N/C	\$0.00			\$0.00	\$3.00	\$15.00	\$12.00	\$48.00	\$240.00	\$3.00	\$15.00	\$15.00	\$60.00	\$300.00
		•		\$211.75			\$2,720.00		\$49.00			\$1,645,00		\$0.00			\$2,311,25	•	\$302.50			\$4,390,00		\$1.177.50			\$7,565.00

Note 1)*48" x 250' Roll E) Based on 250 ft roll

Bid #16-961-032 Moving services and Modular Furniture Disassembly, Inventory, Removal and Reinstallation East Slope

		Mother L	(A) ode Van & St	orage, Inc.		Metrop	(B) olitan Van &	Storage		Crown Wor	(C) Idwide Movir	g & Storage			(D) Service West			GDS N	(E) GDS Moving & Installation				
Bid Item #	Description	Week	Quote	Month	Quote	Week	Quote	Month	Quote	Week	Quote	Month	Quote	Week	Quote	Month	Quote	Week	Quote	Month	Quote		
Optional Renta	al Rate:																						
39	Off-Site Temporary Storage	\$975.00	\$975.00	\$3,000.00	\$3,000.00	\$0.95/sq ft	503.5	\$0.95/sq ft	\$503.50		\$0.00	\$1.00/sq ft	\$530.00	\$300.00	\$300.00	\$1,200.00	\$1,200.00	\$10.00	\$150.00	\$30.00	\$450.00		
40	Off-Site Temporary Controlled Storage	N/A	\$0.00	N/A	\$0.00	\$0.50/sq ft	\$265.00	\$2.00/sq ft	\$1,060.00		\$0.00	\$3.00/sq ft	\$1,590.00	\$375.00	\$375.00	\$1,500.00	\$1,500.00	\$15.00	\$225.00	\$45.00	\$675.00		
-		•	\$975.00	•	\$3,000.00	•	\$768,50	•	\$1,563,50	•	\$0.00	•	\$2,120,00	•	\$675.00	•	\$2,700.00	•	\$375.00		\$1.125.00		

(A) 5000' Warehouse Floor Space in Rancho Cordova (B) Vault or Loose Load per sq. ft. (vault \$11.25/wk or \$45/mo) (C) per square feet (D) 53' (E) 5 x 7 x 7

B, C) Asume 530 sq feet E) 35 sq ft x 15 qty = 525 sq ft